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Chapter 3 Review

Use the cube at the right to identify the figure.

L. Identify two segments parallel to DH
6 F y A E or C C,
2. Identify two segments perpendicular to FD
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3. Identify two segments skew to AE
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Identify two segments oblique to FD
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Identify a plane that is perpendicular to EF

A GC o RBFHD

6. Identify two planes that are parallel
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Use the coordinates to answer the following questions.
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9. Write the equation of the line that passes through the following points: (-5, 4) and (8, - %)
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10. Write the equation of the line that is perpendicular to y = -2x + 4 and that passes through the point (-1, 2).
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Use the figure to match each pair of lines with a word (match each word exactly once).

1. ¢, and £, O a. Oblique

: ¢ ¢

12 giand €, C b. Perpendicular 2 7
13. ¢,and €3 b c. Parallel = >
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14. ¢5 and €5 0\ d. Coincident :

Classify the angles in the diagram at the right.
15. Zland £2
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16. Zland Z4
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17. Z2and £3
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19. Z2and Z4
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20. Find the values of xandy.

X=13°
v=132°
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Prove: R ARD ~ xDRC
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22.

Given: /1= /2
/3= /4

Prove: n || p
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